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1. (a) Sinplill'rhe tblolvjngi
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;lolle the follorvlng.Or,ortou" ,

i. 61o93 + 4log:r - log g = 21og25;

ii. log2 3 I logj 27 = log2 e + logs 2i.



'(") Ifm=a" n : 4s 4r'Q lPn' : o2(c+!), show that
11
9LJ

Facto ze the following expressions:

(b) ac2 - 4at -21;

. (c) 8ao - 3by - 6as + 4bc;

(a) 64c2 - rcOyzl

1 (d) 3a(p * q,) - 2b(q - p);

G) z(, - r)'- r(, - t);
. (t) (zx + 5y), - (2r - 5y),

a) Determine the naiure of the roots of the following ecluations:

tt^2a^.^.

. iI\, 4a2 - 12r. + 9.

Solve tbe following equatibng:
\7

e the lollowing exponeniial equations:

:J.'J"- - ?1{ + 4s = o;

| 
22a >< 42"-3 - g-2r.
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'1. (u)

(b)
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Find the slope ol the line through the points (0. -2), (2,4).

Find the equabion of the line through the given points (-2, i), (_3. _4).

E-r-d rhe qua.ion ot 'l-. sLrargh -inL pas6_ng \ro rgl- r l-e poi, r.

l0.2l and is p.rdli.l ro ch- lir" q = 3r

Ernd th. "qL.rion oi tbe lin" u lri.r Dr5.in r^uqn .be po,n

ol intercection of lhe lines 2r. - 3y :13 and 5r l 2y = 4 un,1

I afpan4i. .r- , o -rrF stfeig)rr .no t, - lJ - 0

(d)

5. (tr) Express the foilorving in telnls of t,he trignoIIlehical r'aLios of acute

angles.

i. sin 105';

ii. cos(-105)";

iii. tan 165';

iv. cos 13 5o.

(b) Solve the e1rraLir:,, 2 sinz d + .".6 cos d + 1 : 0 for thc va jues of d

, -r .0' 'o J60'rnch.sire.

(c) Prove lhe following:

1+srn1 cos r 2- .,cosr I +sln:L
ii. tanz :r - sinz r : sir4i sec:1.

(d) Fincl, r,ithoLrt using tab19s or calculators. the valne ol

(ub |!ru r 4L) I.
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6.

, (u)

(a) Evaluate the following;
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(b) Differentiate the foljowing with
pr'lnclpie.

,' 1

" 2+3x

respect to c by usitg the first

Differentiatc the lbllorvirg lunclions rvith lespecl to c.
. / x2 +2x \t }=ml--l r

\".-3r+4/
ij. g:rt1z:2t -Ier.

i.1I rr -r.r,..-rdno, ;-. then lin1
Ijt. fi!=r. +: then prove that

+ rn telms oI l.

,d2 u drt
,r"-,1 * r-] : fud,( dt
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(cJ Find the maximurD ancl rnininrun points ol,Le lrrir
:t:3-3r2+5.

8. (a) Evaluate the following incleflnite integt.als !r:rh /,irtl,
. J74-23 ; a_1I l.- --; --;- dt.J J:" . J:'
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. r 3rrtr. J -;,^ dt

:- - (b) Er.aluate the lbllowing:
'. t2I i l.(,r+tx i) a":

!).

1t,

43 ,.

Jz \/ 12 3


